ﬁdr;pm'b Hmuysed Cuiray - !024

USSND eu@ iy uajeenn | | | | 1]
opieflued o b it
c".; : 3.00 wenf) ued - o

whUQuestash : 75
lﬂlllﬂ .ﬂ‘t_-;u‘ ““G.@" Sp@is. 12x1=12

1. memﬂyﬂﬂmmw“b et ClummL sefieh
e wnen gy
S) 50% @empupd ) 50% sHafb@d B) 25% @enpuus ]—)aooxw

2. i uuniteney Genpun® e emi .ﬂ'lﬁ\ﬂ Qun@lﬂd LﬂlbuW

-7
Ql'bum&uumﬂpa
Mm - ) sihfig Blenyien Sgy
0) s Pevvae (pearna ") GO B prengLed
3. 00 o simeowreng adiGgrellaslu® fem G 2Cp emi_sgfled uvqwcu-g
‘W@d f1g wrHpoenL uub?
) Ceauaw ) .’lﬂaw ) SDiemed e, u) nw j
4. wefigamed e andaliu L shfiusab amé seaiLuGADy.
&) gremn_vul L sa@fwssn ) genefisenswnen |
8) Qewpers sHilussnd A™) (1) wppus (§) 5
. 5. Quedelu UL ewre GiFsHTE Lgea I 2 Consgdar Ly TDUGSEd Bapey
sreruL(Bub.
Si) autemTb Ly med B (peomBLed @)tﬂm@»mw ) GuedeSiugrased
6. SrHp sevgraned .

fed sengssiuT L &E55Canery
M) sumuei-en,_ SEngHRLILIL_ FEOLIN

) 4 )3 =) 14
8. eflemmub aeTLZ G Bios senysed. aggenneden egeign
E—j‘%@;l =) 75.5% ®) 55.5% =) 455%
c i ATP 2 pugd)
S) usnsefisw owl CLrstenr iglur  §) ACLMCsms ) oL s

- 10. dilugg awemmons ‘0’ Brss amsmus stihs GoAUMmES sids D1ss Boiy ouGans.
fwﬁemmﬁumwwm
) ‘0 <) AB'auenas §) A siedevg B suens ) Sieneng g cuens
11, Tvwenn@ wHpb LLRTLBSSIEW” Cam ur L (WParGlwmfikseui

N =) eriened.. Qapésed
T ) &far Quemt_sd

- I M o0
' ) mgwmmemiﬁ)wmﬂn&i_m /) enii e
%‘-‘M (d-! 22 s eSlesn) 7x2=14
alleneTwn_ige0, CueSimig eSpud aﬂo-nun_@dd
Wm«-?ﬁ)ﬁﬂé)
::WWWMMMCO i
15. TWWMWW A

(em> amnu 500 @Bpu./u G’M%»

MUUW

4



. : . A ]
2 600+ 4 pHz0 =W CoH,,0pd6H04 60,
- Jpeoygud 2 X SiBlcflwued
: 17. Wlﬁdmuﬂd L HClwnggs sweirun s PSS _ |
18. i) SienL il e efled agmencn Blemeon clihBSMMET ©_chenem? | | Doy st ‘
i) CNS-air efeundasid aretrem? «~ LoWw bre 4y (o x¥s] L & o
19, urgniwadlel  Sods Hapugpeile) @FO  LMT@IDIUUsenG e smeys
' sremruLiBenBedensn. ee? ‘(xﬁ‘ﬁ ) mf\% 1% f“ff__*j,?J & OYBau6w
20. @mdp@sadian cumand wrema? @ | A LD W LI UAZZYY ‘;3"”% ’j)"&"jii"
21. wesrenROSHaren srpefiset wienes? )ﬂﬂ@z‘)& B W, - puly. ff;ori,‘gfg -
22, 30 CauredL. Bevemopds Soupiun® Sdniwie om M—?i?uﬂ“f (pevsmsend e He Cu
2 b BeirGenm b Claedd) 1@ blot gem_sowd snemis.
k) '\;“; —j - B0 =2 =& (??/t{?d- ﬂ e
. semaCugud 7 dlamdsgnde ellnwel. (e aewi 32 s imu o) 7x4=28
23. Hemevwgden LG amasema O ggsan O aem e e,
24, &L unireneu LHPIL BTTULNTENE @GDUIBGmeT CougyLiBggs.
©25. 1) Bnddu ungBogens el sreSunan LIFPTL Sifs Gelenw THUGSHUY gair?
i) Lmier eSlemeney BewLQUD (Pigwng eI GBYeOsME sums.
26. swusn Cor eSFullenr LweTUTB ST Wreneu?
27. 1) Busssaenar aIDIE) aaian? aBSSISST-D SHS.
i) okg e SPIBlefb e Counagang CeweduLn Hamed® o L LBSHbL? gei?
28. i) Peeilen gl (SCsmied) unil GOILY FWPSIG. i) sauns mey asipred aaian?
29. i) wefigiasian aHCprL wreng BT s sHCDILL 1L ae SoPssiLBaig geir?
i) Psw ansdeyseia WWeédwsgieub arensr?
730, i) Cunedipm SIEIDIED aIETIEN? NG ALiLIG CFEUHMSWNES paré@elsseoms?
i) engrmu® apmirGunear gt “guepenw aprGuner” aan SepssiLGEDE?
31. yewvly §55 e DULsSmeTLL, CFwe G585 e pILLsmemywb aecurn Cainu@ssieSrast?
32, i) 100 & £fed 25 £ sisamIMWE sSISH G soresd sunrflssliu@Eng. s
senunmeiiar Heon ssalgsmps anomra.
i) &pasewn_ Comomiagnd@ IUPAC peapuliled Quwlienes sipgis.
&) CHCHO o) CH,CH,COCH,
ugdl - =
IV. simengg amésens @ aflowafldaays. 3x7=21
(Comawnar S misafle) uLib amgs)
“83. &) i) 2296 Qeuliu aﬁlﬂ uenTD).
i) Bésed wPHpLY GCrMblww sens e Conss sewemeau Warsn CauuCupow
sngemwons LweaTUBHSsuLDeug aaT?
i) @m B e_e Doy seisung Baengammssmey ungsnsing? (ydugy)
‘&) i) BQwred siflireyniged arepred eramen?
i) BQwnred sfreypigeden LweTTaeT WrENe?
. i) BQwred s Preysener e TEHSEUD AP ETVMIEGSHEME SaDis.
34. &) i) palar sgmebanaemadior Can LrDasamen a(pgis.
T i) 0.18 & Bir gefuled esiten Bir apevssmpussiics seIefiGasmws sansdDs.

e (S wg) " :
L ) i) sepm aumpelled pH ereleungy (padw LG adédng
i) QauuBee e wiggn Curg g slmenldear Causp sidafsdpg. oar?
l 35. &) i) PusssHer uefiseme LLIGWIDs. i) siefisaes alled aaTUMS QIDTWYI.
- ' (S Vg) .
) =) mwwuﬁq&meaﬂmW.Qywuwﬂmm
: ? LR LA

S »
. -

m‘ T e ———



THIRD REVISION TEST - 2024

Standard X Regno [T T 1T
SCIENCE = !
yime : 3.00 hrs — RO VALLUR
I. Choose the correct answer: D’CIR)CT”":.-::
1. If the Earth shrinks to 50% of its real radius, its mass femaining the same, the weight
of a body on the earth will
a) decrease by 50% b) Increase by 50%
c) decrease by 25% &) Increase by 300%
2. In a myopic eye, the image of the oblect is formed
a) behind the retina b) on the retina
LS in front of the retina d) ‘on the blind spot

3. The sound waves are reflected from an obstacle into the same medium from which
the were incident. Which of the following changes?

a) speed b) frequency c) wavelength  \d)-none of the above
4. Man-made radioactivity is also knownas ____ . L

a) induced radioactivity b) spontaneous radi

c) antificial radioactivity L9 (a) & (c) :
5. The process of coating the surface of metal with a thin layer of zinc is called

a) painting b) thinning \ &) Qalvanization d) electroplating
6. Identify the non-aqueous was solution. :

a) sodium chibride in water . b) glucose in water

c) copper sulphate in water +—d)” sulphur in carbon-di-sulphide
7. WhahslhepHoH x 10~ M solution of NaOH

a) 4 b) 3 _e) 10 d) 14
8 Rectified spirit is an aqueous solution which contains about of ethanol.

\_a}/ts 5% b) 75.5% c) 55.5% d) 45.5%
is the ATP factory of the cells.
' 3) chioroplast _ ‘%) mitochondria  c) ribosome d) nucleus

10. A patient with blood group ‘O’ was injured in an accident and has blood loss. Which
blood should be used by doctor for transfusion?

" group b) ‘AB’group c) ‘A'or‘B'group d) all blood group

11. The ‘use and disuse theory’ was proposed by .

a) Charles Darwin " b) Ermnst Haeckel

Baptiste Lamark d) Gregor Mendel

12. Polyphagia is a condition seen in

a) obesity Lty diabetes mellitus

c) diabetes mm _ d) AIDS

Lets w)o on Flaidg Part- |l
Answer any 7 questions. (Q.No.22 is compulsory) 7x2=14

13. While catching a cricket ball, the fielder lowers his hands backwards. Why?
- 14. Why aretraffic signalsfred in-colour? U alli, |33 ) \ane length is
T 15. Give any two examples for hetero diatomic molecules. HCQ NaCQ
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19.

i) How many pairs.of testes are pregam in leech? 1 |

i) What does CNS stand for? (* ¢ snd v élj NCIAOUL fal

Give rqeson : Mature REC in mamma|s not have nucleus and cell o anelles

Name the types of stem cells.& 1)\ |,y 30 ¢ and Adult f’ﬂ’ ol .

What are the agents of soil erosuon'? a{‘ e, | delida , L aZmQ okc.

Calculate the resistance of a conductor through which a durrent of 2A pasSes, when
the potentsal difference between its ends is 30 V.
38 = )5 N(Aw) part-lll

wer afly 7 questions. (Q.No.32 is compulsory) : Ix4=28
What are the types of inertia? Give an example for each type.
Differentiate the eye defects: Myopia and Hypermeteropia
i) Why does an empty vessel produce more sound than a filled one?
i) Mention two cases in which there is no Doppler effect in sound?
State the applications of Avogadro’s law.
i) What is an amalgam? Give example. _
i) Name the acid that menders aluminium passive. Why?
i) Write a short note on mesophyill.
i) What is respiratory quotient?
i) Why is the circulation in men referred to as double circulation?
i) What is the importance of valves in the heart? :
What is bolting? How can it be induced artificially?
How do you differentiate homologous organs from analogous organs? -
i) A solution was prepared by dissolving 25 g of sugar in 100 g of water. Calculate

the mass percentage of solute. = - ——— 25 |00 = R07.
ii) Mention the IUPAC names of the following compounds : 125 (4nx)

NGHEHD  b) CHCH.CREN, Botanone

Ethanall - Part

Answer all the questions. 3Ix7=21
(Draw diagrams wherever necessary)

‘a) i) State Joule’s law of heating.

i) An alloy of nicKel and chromium is used as the heating element. Why?
i) How does a fuse wire protect electrical appliances? (OR)
b) i)  What do you understand by the term ‘ultrasonic vibration'?
i) State the uses of ultrasonic vibration.
iii) Name three animals which can hear ultrasomc vibration.
. a) i) Give the salient features of ‘Modern atomic theory'.
i) Calculate the number of water molecules present in one drop of water which
- weighs 0.18 g. (OR)
b) ) Howdoes pH play an important role in everyday life?
ii) Why does the rate of reaction increase on raising the temperature?
a) i) Enumerate the functions of blood.
i) Definereflexarc.  (OR)

b) Explain with an example the inheritance of dihybrid cross. How is it different from
“monohybrid Cross?
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